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QUESTION 1

What type of large object (LOB) is used to store LOB data together with the formatted rows on data pages, instead of in
a separate LOB storage object? 

A. inline 

B. binary 

C. internal 

D. partitioned 

Correct Answer: A 

 

QUESTION 2

Given the following DDL statement: CREATE TABLE sales (item CHAR(20)); If a DBA wishes to increase the size of the
ITEM column, which SQL statement needs to be used? 

A. ALTER TABLE sales ADD COLUMN item CHAR(40); 

B. ALTER TABLE sales ALTER COLUMN item CHAR(40); 

C. ALTER TABLE sales MODIFY COLUMN item CHAR(40); 

D. ALTER TABLE sales ALTER COLUMN item SET DATA TYPE CHAR(40); 

Correct Answer: D 

 

QUESTION 3

What is the primary purpose for using the INCLUDE clause with a CREATE UNIQUE INDEX statement? 

A. To override the limit on index key columns. 

B. To further enforce the uniqueness of index values. 

C. To combine two or more indexes to create a single unique index. 

D. To improve performance of some queries by allowing index-only access. 

Correct Answer: D 

 

QUESTION 4

Which statement about a deadlock is true? 

A. The victim will be rolled back. 
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B. The victim will read through the lock. 

C. Both victim and holder are rolled back. 

D. The victim must wait until the holder releases the lock. 

Correct Answer: A 

 

QUESTION 5

Which case will require a sequence to be dropped and recreated instead of being modified by the ALTER SEQUENCE
statement? 

A. Change the data type of the sequence. 

B. Reset the sequence to its starting value. 

C. Establish new minimum or maximum values. 

D. Change the increment between future values. 

Correct Answer: A 
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